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Accept 3.1103.3
M1 for 6.2 10 6.6[cm] seen
or 62 to 66 [mm] seen

May be seen on diagram or on the
answer line

B1 for one correct

115 Accept 1130 117
C marked 5cm from B Accept4.8 o 5.2cm Condone C not labelled if clear
C marked on bearing of 230° from B Accept 226° to 234° indication is given eg marked with a

cross
If C not indicated, an arc radius 5cm,
centre B scores B1 with no other
arcs

Use overlay as a guide for 2 marks
or use on screen ruler and protractor
to confim B1. Protractor reading
126° t0 134°
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16 |(a) 140 - 160 (s) 3 |B1300+20(m)
140130 300"
Thosia | M for e300
14032
(b) Correct location for F 2 |Blangle55°:2"
14013 | B distance 8 cm 0.2
140310
(© 4| B1 perpendicular bisector of PQ
14013 | drawn +2°
1A023
240314 | B1 for arcs seen Arcs must be fit for purpose
B1 arc centre P, radius 4 £ 0.2cm May be the same arcs as used

B1 correct line segment marked FT
their constructions

for perpendicular bisector as
shown
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16(a)

No and correct reason g No, he has done B from A
or No, the North line shouid go from B
No and correct description of 81
correct method
No and 280(")
‘Additional Guidance

Ignore non-contradictory, irelevant responses alongside a correct
response

‘Answer must either include ‘N’ or ‘Kemal is wrong oe

Ignore diagram if B1 scored from answer ines

No,itis 280 81
No, should start measure from B 81
No, s from the wrong point 81
Kemalis wrong, he stated from A (and went to B) 81
No and a correct methodidrawing shown in ether box 81
No, the bearing should be reflex 81
No_ he cid Ato B (not Afrom B) 81
No_ should be antciockwise 80
No. measured the wrong way around 80
No, bearing would be 260 8
(should be) 280 (ot suffiient toimply ') 80
No_ he measured from A which s 100 but you're meant to measure w0
from B which is 170

Bearing should sart ffom B _(should i not suffcient to imply o) 80
Not measured from B 80
‘Started rom A (and went 0 B) 80
No, s from the wrong place 80
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16(b)

No and correct reason 1 | 8 No.its NornEast
No, NW is 315(")

‘Additional Guidance

Reasoning may be seen on diagram. The angles do not need to be:
‘accurate if intention i clear.

No, you've gone anticlockwise

No, NW lies between 270 and 360 (but 045 is between 0 and 90)

No, DisNE of C

Do not accept incorrect statements.
g No, North Westis 225"

No,Cis SW of D_(rue but not referencing what Nina says)

04515 NE

DisNEOIC

No, it wilbe larger
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16(c)

Line drawn due South from E (any mark intention on ‘south’

fength) M ‘mark intention on ‘line”
or ‘accept a cross on coast roughly south of
143,51 E
theirvalue x 100 | 1430, 510) mples M2
g 1.3 % 100
1450, 490] and correct for their sC1600
value

A1 | (450, 490] scores MIM1AT unless error

‘Additional Guidance
Line drawn o no line drawn and 4.6 X 100 = 465 MMIAO
(within range but not correct for their value)

No e drawn and 4.2 x 100 = 420 MOM1AD

600 may score up to M2, only award SC1 if M0 scored

Ifine goes North as well as South of E, working must choose the South
direction length (in range) for at least 15t M1 (but 2nd M1 could sil be
scored)

Ifine does not reach coast o goes beyond coast, ful marks can stil be.
‘awarded for a correct method with correct answer within range

Ignore units throughout eg 4.8 X 100 = 480 cm MiMIAT
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225°

B1

Additional Guidance
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270

81

17@)

‘Additional Guidance
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17(6)

Altornative method 1 (working in cm)

163.67] 81 | mpled by 1300
125,29 and [16,22] implied by 540 and 400
o 81
4549 implied by 940
their 65 % 200 or 1300 o
andtheir 2.7 x 200 or 540 1300 and 540 and 400 mplies B2M1
and their 2x 200 or 400 1300 and 840 imples B2M1
or istances must be exact f measurements
their 65 x 200 or 1300 i | notshoun
and (thei 27 + their2) x 200 or 840
ther 65 x 200 or 1300
and their 47 %200 or i iy one value used for BC rom the
nd their 47 %200 or 940 start, their 4.7 must be > 4 and < 6
heir 1300 - their 540 - thelr 400 o
o e | o et coct arr o
their 1300 - their 940 istances

their 940 must be > 800 and < 1200
Correct answer for thlr 6.5 and ther thelr measurements
2.7 and their 2 with all measurements

A

Correct answer for their 6.5 and their
4.7 with all measuremens seen

their 4.7 must be > 4 and <6
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17(6)

Altornative method 2 (working in cm)

3,61 81
25 29)ama(16.22]
o 8t
45,49
i 6.5 thei 2.7 thei 2 o
orthele 6.5 - ther 47 or 18 M1 | ifonly one value used fo BC from the
Sar, theit 47 mustbe > 4 and < 6
e 18200 widep | °
may be impled by corect answer
Correctanswer for ther 6.5 and ther tther measurements
2.7 and their 2 with all measuremens
b At
Cotrect answer fortheir 6. and thir
47 with allmeasuremerts seen their 47 mustbe > 4 and <6
‘Addiional Guidance

‘Allow work in mim but note that they must multply by 20 for the M1

Working may be on diagram

Must show measurements to score the A mark and answer must be.

cormect for their original measurements

1300 - 940 and answer 360 (no measurements) BIBIMIMIAD
1300 - 920 and answer 360 (no measurements) B1BOMOMOAD
6.5,4.6, 1300 - 920 and answer 360 BIBIMIMIAIR
65,42, 1300 - 840 and answer 460 BIBOMIMIAIR
65,26, 2.0n dagram, 1300 5 = 200 (5 wrong for heirvalues and | o

add

not shown)
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B3 (@ 025 Bl | for angle in the range 23 to 27 Accept without the initial 0, eg. 25
) 125 MI | for measurement of AB in the range 4.8 t0 5.2 (cm) or 48 to 52 (mm) Could be just seen on the diagram
MI | for“5” x 25000 (= 125000) or 50" x 25000 (= 1250000) 125000 or 1250000 seen implies MIM1
or 5 = 100000 (= 0.00005) or 50" + 1000000 (= 0.00005) For the award of this mark, “5” or “50”
can be any value in the range 4 to 6 or 40
or 25000 + 100000 (= 0.25) or 25000+ 1000000 (= 0.025) 1060
Al | for answer in the range 1.2 to 1.3
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9 (@

®)

275

130

MI

Al

BI

for accurately measuring the distance between Backley and Cremford as
5.3 cm — 5.7 cm oe or their measurement x 0.5 oe

for answer in the range 2.65 t0 2.85

for answer in the range 128 to 132
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18

explanation

Cl

“The bearing is 335° or ‘She should have
measured clockwise from north’ oe
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9 [(a 22 2 |Accept212t022.8
M1for5.3t05.7 [cm] seen May be seen on diagram or on the
Or 53to 57 [mm] seen answer line

9 () 06310067 1 Condone eg 65

9 [ Lighthouse indicated correctly 2| M1 for either condition correct Allow unambiguous indication if

4.3t04.7 cm from P
and
on bearing of 198 to 202 from Q

cross is not seen
For M1 allow an arc/circle centre P
with radius 4.3t0 4.7 cm

Use overlay as a guide
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22 (a) 135 B1 for andle 45 e.g 45 marked at ACB or ABC or 180 —
450r 90 + 45
® 209102091 W2 for tan” (45+25) or tan” (25+45) | Accept longer methods but they must

s0i by 61, 60.94 10 60.95 or 29[.1] ,
29.05.

or

M1 for tan [=] 45+25 or tan [=] 25+45
AND

M1 for 270 ~ their angleABD
or 180 + their angleADB

getto the equivalent point to gain credit
e.g. if they find the hypotenuse, they
score MO untilthey start to use sin or
cos.

Can be implied by their answer





